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Sean and 3 of his friends ordered pizza.  They agreed to split the $20.60 charge for the pizza equally.  How much will each person pay?


 (
48%
)




The running track at Veronica’s school is 1.8 miles long.  On Tuesday, Veronica ran 2.5 laps.  How many miles does she run on Tuesday?


 (
4
.5
)



To make it past the first round of tryouts for the basketball team, Paul must make at least 55% of his free-throw attempts.  During the first round of tryouts Paul makes 3 out of 5 attempts.  What percent of free-throws did Paul make?


 (
$5.15
)



Jeff gets paid $12.50 an hour for regular wages and $15.50 for overtime wages. Last week, Jeff work 40 hours for regular wages and 2.5 hours for overtime wages.  How much money did Jeff earn last week?


 (
4
)



It costs $0.75 per person to ride the city bus.  At the end of the day, Veronique emptied the bus’s cash box and deposited $136.50 in fares.  How many passengers rode the bus that day?


 (
$118
)



The average annual rainfall for San Antonio is 22.8 inches, while El Paso in West Texas averages only 5.7 inches of rainfall annually.  How many times greater is the average rainfall for San Antonio than El Paso?


 (
$538.75
)




Enterprise Rent–A–Car company charges $17.50 per day to rent a car plus $0.20 for each mile traveled.  Find the cost of renting a car for 2 days if you drive 415 miles.


 (
4
0
%
)





How much larger is a 15.2 pound bag of potatoes than a 7.8 pound bag of potatoes?


 (
$5.25
)




Eva spends 25 minutes practicing the piano each afternoon after school.  What part of an hour does she spend practicing?  Write as a fraction in simplest form.



 (
182
)



Jessie guesses that  of his class completed their homework last night.  What percent of the class did NOT complete their homework?



 (
7.4
)


What percent of the figure below is shaded?


	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	









 (
60
%
)






Janie babysat for 6 hours on Saturday and earned $31.50.  How much did Janie charge per hour?
